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And if there; where there is a X1727 X997

OVERVIEW!'

Our X 13 argues that where naX N> 7912° 7717017 X, then even though there
is a X717 X117, nevertheless there should be a ny12awa 37170, This seemingly
indicates that the consequence of nak n1a% A912° PN PR (which is that a
792w is required) overrides® the logic of X7 X117 (which negates the
necessity of a 7¥12aw). Our Md0IN will show that this is not necessarily so (in
all cases).

— %933 ©YYNT 95 19N3 29 9INT *RIIN 932 (0w 8,75 97 xama xa2) DINAN NHPIN P99
In 2°n27 nptm 2o where 3211 21 ruled concerning the boat that 2v%K87 %>

922, the X1 there -
— “NIMNT NIIT NN DND 23U IO 2903 749 YONNNN 299

Challenged this ruling from the 7awn of =yn2 715 7527 where the ruling
is Yoy, and the X3 answered that there by 7ma 779 7°%nn7, the reason

we say 1217 and not 123 @°X7 2 is because there is a X112 8977, however
by X2 there is no *x1mn7 X717 and therefore we do not say 12m, but rather DT 93
gl

mooIn anticipates a difficulty:
— 1150 917 11919 MY KNI NINNT XIIT XINT ONN A0 7999 K9

And the X3 there does not ask (as it does here); and if there, by 7%
72 779, where (even though) there is a X1mnT 8997 but we still can
argue that it belongs completely to (only) one person and nevertheless the
ruling is Y2Y21, then how is it that -

"' See ‘Overview’ to previous ('Ri1) 71 7"7 Moo and footnote # 1.

> When we were discussing just the issue of X1n7 X177 the X3 was satisfied that there is no 7y12w by
om0, It is only after we invoked the idea of nnk nN1°n% 7913° 7PYomi X that the problem arose.

? Two people were disputing the ownership of a boat; each one claiming that it is his.

* Whoever is stronger overpowers and takes possession of the boat. See 12121 71"7 X,2 9o footnote # 3.

> See previous an:1 7"7 Moo footnote # 2.

6 See previous &3°7 7"7 Moo [and] footnote # 1.

" There is an inherent doubt (by 7"2) when the calf was born (before or after the 19°%1 transaction) and
therefore to whom it belongs.

¥ If the litigants would not claim ownership of the boat, it would be of no concern to 7"2. It belongs to
whomever it belongs.

? Seemingly it is not logical to rule 315m° by Mmna 779 A°9mAa, since it is MR NS A9 ApYPAT PR (and
nevertheless we do rule 1°).
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Regarding a boat where it is possible to assume that it belongs to both
litigants and we do not divide it, but rather we rule 2233 a%»x7 95!'" Why
did not the 3 there ask the same type of question as it asks here?!"!

mooIn responds:
— NIV NN NIMINT NIYT N30 NPITN PIYDT DIVN 139N

This is because concerning division (whether to divide or say 1"&72) which

the X773 is discussing in 71", the logic of R11%2%7 8997 is stronger than 77507
nnR YA a9 -
— Pymonow 157 oMy K93 XIN IN) PODY INRN

For since there is an absolute doubt without their claims, logic demands

that they divide (even though nax nyi» 7912° mp1oma Pr)* -
— N> INMNINT TVANT 2) DY N NN HaN

In contrast to a boat that even though it is possible that it belongs to

both of them, nevertheless -
— Yan) ©ITNT 5 NIMT 97 PININ PN NINNT NIYT NS 1199

Since there is no X1%»7 X997 and they are not holding the boat, the

ruling is 3""R72. This explains the X723 in 7"n where the logic of X117 X317 is very

appropriate concerning 171> (or not).
— NMAY KD PITNY NINNT RIIT N0 D299 PPN NAY Payd Yan

However concerning (whether we should or should not administer) a

"1t would seem (more) logical (than by Tna 719 7>mnA) to rule by X2 that we divide since 7912° 7p19mA
nnr N, Tt is [quite] possible that both litigants are actually partners in the boat.

"' In our X3 the logic of Nk v 7212° ApYona PR overrides the logic of X1mnT X777, Therefore our X3
asks that by 012110 even though there is a X117 8777 (which would explain why there is no need for a
7312w); nevertheless there should be a 31w since NAR DA% 791> 7900 PR (which warrants a 72w to
prevail on the liar to withdraw). Similarly in our 71wn, our X3 asks that even though there is no X777
X117 (which perhaps warrants a 712w); nevertheless there should be no 712w since nuR N7 72190 AP0
This proves that nX N1a% 77120 P20 is stronger than X117 X177, The question is then; there by 7°%man
T2 779 and X27X, even though if we follow the logic of &11m17 X117 then there should be 112m° by 7°%man
and 2"X73 by X2, nevertheless we should follow the logic of nnXk ni% 7912 7P°Na (as our XA insists),
and therefore by X27X the ruling should be y1%m° (since naR n1aL 79120 ApPnn) and by f°%nnn the ruling
should not be 1171 (since NAR N2 A219° 7120 PR). See previous ('R7) 71 "7 Mvon footnote # 1.

12 See previous &3°7 71"7 m»doIN [and] footnote # 5.

" According to 919110 a X1mnT X177 demands that there be 112r. Each party has a legitimate claim. (It may
even be considered as if each one is a prm. See X% 7"7 2,7% 1P MDOIN.) A R1MAT X7 is powerful to be
X% even from a p1n, and therefore it overrides even the 8720 of niX N1 79120 ApYonn PR. We cannot
therefore say 3"X72 by a X1mn7 8777 (for it is as if they are 1rmR. See [19102] 2121 73"7 8,2 N1voIN.) However
this strength of X117 X117 (according to 019110) is only in regards to 1121 but not in regards to 7312w

' Since it is also possible that it belongs to only one, we do not have the right to award (even half the boat)
to the other, for his claim has no substantiation. There is no proof and no mprmn. See 12" "7 X,2 MdOIN
(and in the Overview).
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2w, which is what the X713 is discussing here, the logic of X11a1n7 X997 is

of no avail to divide without a **7912 in the cases of D190, for -
162Dﬂ’3 RN N7 YN NaAva 11715‘1’\’) NN N92D DN TN YV INTIA NINY 9NN

Since it certainly belongs to only one of them, logic compels us to rule

that they should divide with a 712w, for perhaps one of them will admit
to the truth.

SUMMARY

Concerning 721217 the logic of X117 X777 compels us to have 7171 despite
that naR N9 7212° 371907 1°X; however concerning 7312w in a case where R
naRk nea 92120 ap1enn, there definitely needs to be a vaw for X1mnT RI97
does not contradict it.

THINKING IT OVER

1. How will *"wA interpret the term X1m»7 8177 in 2027 npm p?'’

2. What changed in m»01n thinking from the question to the answer?

> moon does not mean that X1»7 X177 has no influence as to whether there should or should not be a
712w, for the X713 initially understood, that where there is a 1717 X777 there should not be a 77312w. Rather
mMooIn means that in a place of NR NPA% 721> AT PR, the idea of X1MNT X377 cannot be a cause not to
give a 712w, for the purpose of a 712w is to dissuade the liar.

'® Concerning whether to impose a 7¥12w or not (where nnX N> 721 APonaA 1X), the logic of X1mnT X177
does not sway us either way. X117 X777 gives each one equal rights to divide, however it does not shield
them from their obligation to substantiate their claim since naR N 7213 AP17na PR. The purpose of a
72w is to dissuade the liar. The surer we are that there is liar the more reason to be 2»n»n a I¥12W (see
previous [12101] *% 71"7 mMoown). Therefore it is not that NPR NPA? 79120 3200 overpowers XIMAT RI17
concerning 12w, but rather X1m»7 X777 is irrelevant when it comes to administering a 7v12w. However
concerning whether to make 71717 or 2"X75 (as in the cases of 01910), there X117 X777 is a most powerful
reason for YY211° and it outweighs the concerns of AR NI 7212° 3PN X,

17 See n"m1 and mp MK 7"10.
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